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standardisation events which all associates participate in and is the scheme which was used by them in
this examination. The standardisation process ensures that the mark scheme covers the students’
responses to questions and that every associate understands and applies it in the same correct way.
As preparation for standardisation each associate analyses a number of students’ scripts. Alternative
answers not already covered by the mark scheme are discussed and legislated for. If, after the
standardisation process, associates encounter unusual answers which have not been raised they are
required to refer these to the Lead Examiner.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year’'s document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular examination
paper.
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Part 1 — General marking guidance for GCSE MFL Writing Tests
Level of response marking instructions

Level of response mark schemes are broken down into levels, each of which has a descriptor. The
descriptor for the level shows the average performance for the level. There are marks in each level.

Before you apply the mark scheme to a student’s answer read through the answer and annotate it (as
instructed) to show the qualities that are being looked for. You can then apply the mark scheme.

Step 1 Determine a level

Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer meets the
descriptor for that level. The descriptor for the level indicates the different qualities that might be seen in
the student’s answer for that level. If it meets the lowest level then go to the next one and decide if it
meets this level, and so on, until you have a match between the level descriptor and the answer. With
practice and familiarity you will find that for better answers you will be able to quickly skip through the
lower levels of the mark scheme.

When assigning a level you should look at the overall quality of the answer and not look to pick holes in
small and specific parts of the answer where the student has not performed quite as well as the rest. If
the answer covers different aspects of different levels of the mark scheme you should use a best fit
approach for defining the level and then use the variability of the response to help decide the mark within
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content.

Step 2 Determine a mark

Once you have assigned a level you need to decide on the mark. The descriptors on how to allocate
marks can help with this. The exemplar materials used during standardisation will help. There will be an
answer in the standardising materials which will correspond with each level of the mark scheme. This
answer will have been awarded a mark by the Lead Examiner. You can compare the student’s answer
with the example to determine if it is the same standard, better or worse than the example. You can then
use this to allocate a mark for the answer based on the Lead Examiner’'s mark on the example.

You may well need to read back through the answer as you apply the mark scheme to clarify points and
assure yourself that the level and the mark are appropriate.

Indicative content in the mark scheme is provided as a guide for examiners. It is not intended to be
exhaustive and you must credit other valid points. Students do not have to cover all of the points
mentioned in the Indicative content to reach the highest level of the mark scheme.

An answer which contains nothing of relevance to the question must be awarded no marks.




MARK SCHEME - GCSE POLISH - 8688/WH — JUNE 2019

Marks will be allocated in the following way at Higher Tier:

Content | Quality of | Range of | Accuracy | Conveying | Application of | Total
language | language key grammatical
messages | knowledge of
language and
structures

Question 1 10 6 16
Question 2 15 12 5 32
Question 3 6 6 12
Total 25 6 12 5 6 6 30

Higher Question 1/Foundation Question 4

10 marks for Content + 6 marks for Quality of language (16 marks in total).

Candidates write approximately 90 words in total about four different bullet points. All bullet points must
be covered, but there is no need for equal coverage of the bullets.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an
appropriate mark within a mark range.

The gquestion is marked for Content and for Quality of language, according to the following criteria.

(NOTE THAT THESE CRITERIA ARE DIFFERENT FROM FOUNDATION QUESTION 2):

Content
Marks | Response

9-10 A very good response covering all aspects of the task. Communication is clear and a lot of
information is conveyed. Opinions are expressed.

7-8 A good response covering all aspects of the task. Communication is mostly clear but
perhaps with occasional lapses. Quite a lot of information is conveyed. Opinions are
expressed.

5-6 A reasonable response covering almost all aspects of the task. Communication is generally
clear but there are likely to be lapses. Some information is conveyed. An opinion is
expressed.

3-4 A basic response covering some aspects of the task. Communication is sometimes clear but
there are instances where messages break down. Little information is conveyed. An opinion
is expressed.

1-2 A limited response covering some aspects of the task. Communication is often not clear and
there may be frequent instances where messages break down. Very little information is
conveyed. There may be no opinions expressed.

0 The content does not meet the standard required for a mark at this tier.
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The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant in the broadest sense must be ignored when awarding the mark for Content.

A minimum number of bullet points must be covered for the award of marks for Content, as follows:

0 7-10 marks: 4 bullet points
0 5-6 marks: 3 bullet points
0 3-4 marks: 2 bullet points
0 1-2 marks: 1 bullet point

The information that the candidate gives must be clear. If what is written is unclear, this will have a
bearing on the mark for Content. For example, the candidate may convey information in relation to all
four bullet points, but lapses in clarity may mean that a lower mark than the 9 or 10 is more appropriate.
The more lapses in clarity that there are, the lower the mark is likely to be. All of the information that a
candidate attempts to give in relation to a particular bullet point may be unintelligible, in which case that
bullet point will not have been covered, meaning that the maximum mark will be 6.

You must accept any information which is a plausible response to the bullet point, even if it does not
explicitly mention, for instance, a time or place. For example, if the bullet asks what the candidate did
last weekend, and he/she writes ‘I went to see my grandparents and then went to a theme park’, this can
feasibly be an account of what happened last weekend, even though ‘last weekend’ is not mentioned.
Equally, if the student is asked to say what he/she does on a typical visit to a shopping centre and they
write ‘I bought some clothes and went to see a film’, this is also an acceptable fulfilment of the task, even
though ‘shopping centre’ is not mentioned.

The band refers to the amount of information that is conveyed, as follows:

9-10: alot

7-8: quite alot
5-6: some
3—4: little

1-2: very little

All of these have to be considered with reference to the suggested number of words, which is
approximately 90. In other words, a candidate who writes approximately 90 words, clearly
understandable and relevant to all four bullet points, will be able to achieve 10 marks, provided the other
criteria are met. Conversely, a candidate may write much more than 90 words, but the language is so
inaccurate that little or very little information is conveyed successfully and the mark will be much lower.
If a candidate writes considerably fewer than 90 words, ‘a lot of information’ will not be conveyed.

The candidate must give opinions in order to have access to certain marks, as follows:

7-10: two opinions
3-6: one opinion

This is not an automatic mark and the other criteria within a particular band must be met. If there is no
opinion, the maximum mark is 2. An opinion may be expressed simply, for example: ‘I like going
shopping’. Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an opinion. A
neutral or descriptive adjective is only classed as an opinion if it is preceded by something like ‘I think
that’. For example: ‘I think that my town is big'.




MARK SCHEME - GCSE POLISH - 8688/WH — JUNE 2019

Quality of language

Marks | Response

5-6 A variety of appropriate vocabulary is used. Complex structures and sentences are
attempted. There are references to three time frames, which are largely successful. Errors
are mainly minor. Some more serious errors may occur, particularly in complex structures
and sentences, but the intended meaning is nearly always clear. The style and register are
appropriate.

34 Some variety of appropriate vocabulary is used. There may be some attempt at complex
structures and sentences. There are references to at least two different time frames,
although these may not always be successful. There may be some major errors, and more
frequent minor errors, but overall the response is more accurate than inaccurate and the
intended meaning is usually clear. The style and register may not always be appropriate.

1-2 The range of vocabulary may be narrow, repetitive and/or inappropriate to the needs of the
task. Sentences are mainly short and simple or may not be properly constructed. There may
be frequent major and minor errors. Little or no awareness of style and register.

0 The language produced does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Quality of language, even if
some of it is irrelevant to the bullet points.

Once you have decided on the mark for Content, you should read through the response once more and
decide on the mark for Quality of language. A mark of O for Content automatically results in a mark of O
for Quality of language but, apart from that, the Content mark does not limit the mark for Quality of
language. However, a short piece is unlikely to demonstrate sufficient variety for a high mark for Quality
of language.

e Each band has five strands: variety of vocabulary; complexity of structures and sentences; reference
to time frames; accuracy of the language; style and register. Sometimes it will be necessary to adopt
a ‘best fit’ approach, because the five strands will not be consistently demonstrated. Whether it is the
top or bottom mark in the band will depend on whether the criteria are nearer to those of the band
above or below.

¢ In order to score in the 5-6 band, there must be reference to all three time frames (past, present and
future). For the 3—4 band, there must be reference to at least two time frames. Reference to a
particular time frame may be demonstrated with one example. The verb used to refer to a particular
time frame need not be totally correct, provided the message is clear. These marks are not awarded
automatically and the other criteria in the band are equally important. Notice that references are to
time frames, not tenses. So, for example, the present tense usage in the following sentence is a
reference to a future time frame: ‘I'm going to the concert next week'’.

¢ When considering the complexity of the language, you should bear in mind that a) this is the overlap
guestion and is attempted by both Foundation and Higher candidates; b) that the criteria for Quality of
language in this question are not as demanding as the language criteria for Higher Question 2.
However, for a mark of 5 or 6, complex structures and sentences are attempted. They may not always
be successful and this may lead to serious errors because of the complexity of the structure or
sentence which the candidate attempts. Complexity may be shown in some of the following ways:
different tenses; intensifiers; time markers; connectives; subordinate clauses; infinitive constructions.
This should not be seen as a ‘tick list’, but rather as an indication of the definition of complexity at
GCSE level.
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e The setting and bullet points are likely to mean that the style and register of the writing will be
appropriate. If informal address is used when the task is in a formal setting, or vice versa, there is no
need to penalise the candidate merely for that. It may, however, be a contributory factor in the award
of the overall mark if there are other weaknesses.

¢ There is no requirement for candidates to present their piece of writing in a particular way because of
the context, eg a blog or email does not need to look like a blog or email. It is the content which is to
be marked.

Higher Question 2

15 marks for Content + 12 marks for Range of language + 5 marks for Accuracy (32 marks in total).

Candidates write approximately 150 words in total about two different bullet points. Both bullet
points must be covered, but there is no need for equal coverage of the bullets.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an
appropriate mark within a mark range.

The question is marked for Content, for Range of language and for Accuracy, according to the following
criteria:

Content

Marks | Response

13-15 | An excellent response which is fully relevant and detailed, conveying a lot of information.
Communication is clear with little or no ambiguity. Opinions are expressed and justified.

10-12 | A very good response which is almost always relevant and which conveys a lot of
information. Communication is mostly clear but there are a few ambiguities. Opinions are
expressed and justified.

7-9 A good response which is generally relevant with quite a lot of information conveyed.
Communication is usually clear but there are some ambiguities. Opinions are expressed and
may be justified.

4-6 A reasonable response with some relevant information conveyed. Communication is
sometimes clear but there may be instances where messages break down. An opinion is
expressed.

1-3 A basic response which conveys a limited amount of relevant information. Communication
may not be clear and there are instances where messages break down. An opinion may be
expressed.

0 The content does not meet the standard required for a mark at this tier.

The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant must be ignored when awarding the mark for Content. However, as the bullet points
are much more open-ended, there is scope for candidates to include information which is still relevant
but not in direct response to a bullet point. For example, when addressing a bullet point requiring a
response about a memorable holiday, candidates may refer to where they might go on a future holiday.
Any information which cannot be deemed at all relevant must be ignored when awarding the mark for
Content.
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As with the overlap question, you must accept, as an accomplishment of the task, any plausible
response to a bullet point, even if an element such as time or place are missing.

In order to score a mark of 13 or more for Content, both bullet points must be covered. However,
there is no requirement for an equal coverage of both bullet points.

A candidate who conveys information in relation to one bullet point only can score a maximum of
12 marks for Content.

Provided at least some coverage of both bullet points is evident, candidates will have access to full
marks where the other criteria are met.

The bands refer to the amount of information that is conveyed, as follows:

13-15: alot
10-12: alot
7-9: quite a lot
4-6: some
1-3: alimited amount

All of these have to be considered with reference to the recommended number of words which is
approximately 150. In other words, a candidate who writes approximately 150 words, clearly
understandable and relevant to both bullet points, will be able to achieve 15 marks provided the other
criteria are met. Conversely, a candidate may write much more than 150 words, but the language is
S0 inaccurate that only a limited amount of information is conveyed successfully. If a candidate writes
considerably fewer than 150 words, ‘a lot of information’ will not be conveyed.

The candidate must give and justify opinions in order to have access to certain marks, as follows:

10-15: at least two opinions are expressed and justified
7-9: at least two opinions are expressed
4-6: at least one opinion is expressed

This is not an automatic mark and the other criteria within a particular band must be met. If there is no
opinion, the maximum mark is 3. Any opinion may be expressed simply, for example: ‘I like going
shopping’. Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an opinion or a
justification of an opinion. A neutral or descriptive adjective is only classed as an opinion or a
justification if it is preceded by something like ‘I think that’. For example: ‘I think that my town is big’
(opinion); or a neutral adjective can be given as a justification of an opinion: ‘I like my town because it
is big’ (opinion + justification).

Once the correct band has been decided upon, the middle mark in the band will be given to a
candidate whose writing fits the band well. If the band above was a consideration, then award the
higher of the three marks; if the band below was a consideration, then award the lower of the three
marks.
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Range of language

Marks | Response

10-12 | Very good variety of appropriate vocabulary and structures. More complex sentences are
handled with confidence, producing a fluent piece of coherent writing. The style and register
are appropriate.

7-9 Good variety of appropriate vocabulary and structures. More complex sentences are
regularly attempted and are mostly successful, producing a mainly fluent piece of coherent
writing with occasional lapses. The style and register are appropriate.

4-6 Some variety of appropriate vocabulary and structures. Longer sentences are attempted,
using appropriate linking words, often successfully. The style and register may not always be
appropriate.

1-3 Little variety of appropriate vocabulary. Structures are likely to be short and simple. Little or
no awareness of style and register.

0 The range of language produced does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Range of language, even if
some of it is irrelevant to the bullet points.

Once you have decided on the mark for Content, you should read through the response once more and
decide on the mark for Range of language and for Accuracy. A mark of O for Content automatically
results in a mark of O for Range of language but, apart from that, the Content mark does not limit the
Range of language mark. However, a short piece is unlikely to show sufficient variety for a high mark for
Range of language.

e Each band has five strands: variety of vocabulary; variety of structures; complexity of sentences;
fluency of the writing; style and register. For a mark of 12, there will be good evidence that the criteria
for all five strands have been met comfortably. Sometimes it will be necessary to adopt a ‘best fit’
approach, because the five strands will not be consistently demonstrated. Once the correct band has
been decided upon, the middle mark in the band will be given to a candidate whose writing fits the
band well. If the band above was a consideration, then award the higher of the three marks; if the
band below was a consideration, then award the lower of the three marks.

e There must be more complex sentences for the candidate to score 7 marks or more. For a mark in the
10-12 band, the complex sentences are produced confidently, with few errors in structure; for a mark
in the 7-9 band, the attempts at complex sentences are mostly successful. Complex sentences may
be formed in some of the following ways across the languages: use of subordinate clauses; use of
relative clauses; use of infinitive constructions; the use of object pronouns within a sentence to lend
greater fluency. This should not be seen as a ‘tick list’, but rather as an indication of the definition of
complexity at GCSE level.

¢ The setting and bullet points are likely to mean that the style and register of the writing will be
appropriate. If informal address is used when the task is in a formal setting, or vice versa, there is no
need to penalise the candidate merely for that. It may, however, be a contributory factor in the award
of the overall mark if there are other weaknesses.

e There is no requirement for candidates to present their piece of writing in a particular way because of
the context, eg a blog or email does not need to look like a blog or email. It is the content which is to
be marked.
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Accuracy

Marks | Response

5 Accurate, although there may be a few errors, especially in attempts at more complex
structures. Verbs and tense formations are secure.

4 Generally accurate. Some minor errors. Occasional major errors, usually in attempts at
more complex structures. Verbs and tense formations are nearly always correct.

3 Reasonable accurate. There are likely to be minor errors and there may be some major
errors, not only in complex structures. Verb and tense formations are usually correct.

2 More accurate than inaccurate. The intended meaning is generally clear. Verb and tense
formations are sometimes correct.

1 There may be major errors and frequent minor ones, and the intended meaning is not always
clear. There is only limited success with verb and tense formations.

0 The accuracy does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Accuracy, even if some of it is
irrelevant to the bullet points.

A mark of 0 for Content automatically results in a mark of O for Accuracy but, apart from that, the Content
mark does not limit the Accuracy mark. However, a short piece is unlikely to show sufficient evidence for
a very high mark for Accuracy.

¢ For the award of 5 marks, the writing need not be perfectly accurate. There may be errors in attempts
at more complex language and the occasional minor error, but these will be infrequent. A minor error
is one which has no bearing on communication (for example, incorrect gender), whereas a major error
is one where communication is affected.

e For a piece of writing that contains a good number of errors, a useful starting point will be to decide
whether overall it is more accurate than inaccurate. If it is, then the minimum mark will be 2.

¢ A major consideration in awarding marks for Accuracy is correctly formed verbs and tense formations.
All verbs and tense formations should be considered here but as there are only two bullet points in this
question, only two time frames will be elicited. While some candidates will develop their ideas and, in
doing so, use a third time frame and different tenses, there is not the same requirement as there is in
Foundation Question 4/Higher Question 1 to refer to all three time frames.

Higher Question 3

6 marks for Conveying key messages + 6 marks for Application of grammatical knowledge of language
and structures (12 marks in total).

Candidates translate into the target language a passage in English, totalling at least 50 words. The
translation is marked for Conveying key messages and for Application of grammatical knowledge of
language and structures, according to the following criteria:

10
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Conveying key messages

Marks

Responses

6

All key messages are conveyed.

Nearly all key messages are conveyed.

Most key messages are conveyed.

Some key messages are conveyed.

Few key messages are conveyed.

Very few key messages are conveyed.

O, [N W | b~ |lO

The content does not meet the
standard required for Level 1 at this tier.

The translation is divided into 13 key messages. A tick will be awarded for each key message that is
communicated, despite any minor inaccuracies. The total number of ticks awarded equates to a mark
according to this table.

Total ticks Mark

13

11/12

8/9/10

5/6/7

3/4

1/2

0

OFRLINWIA~ OO

When deciding on whether a key message is conveyed, you should ask yourself the question: ‘Would a
native speaker understand the target language version without reference to the original English?’ If the
answer is ‘yes’, award a tick.

Application of grammatical knowledge of language and structures

Marks

Response

6

Excellent knowledge of vocabulary and structures; virtually faultless.

Very good knowledge of vocabulary and structures; highly accurate.

Good knowledge of vocabulary and structures; generally accurate.

Reasonable knowledge of vocabulary and structures; more accurate than inaccurate.

Limited knowledge of vocabulary and structures; generally inaccurate.

Very limited knowledge of vocabulary and structures; highly inaccurate.

OR[N W|h~|O

The language produced does not meet the standard required for Level 1 at this tier.

Once you have decided on the mark for Conveying key messages, you should read through the
translation once more and decide on the mark for Application of grammatical knowledge of language and

structures.

11
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This mark is not limited by the Conveying key messages mark, unless the mark for Conveying key
messages is 0, in which case the mark for Application of grammatical knowledge of language and
structures must also be 0.

There is no direct correlation between the two marks, but your first thought should be to see if the
same mark is appropriate. For example, a candidate may have been given 5 ticks and you have
awarded a mark of 3 for Conveying key messages. You may have had to hesitate when deciding on
one of the ticks but gave the benefit of the doubt. This may then encourage you to consider a mark of
2, rather than 3, for Application of grammatical knowledge of language and structures.

If a candidate leaves gaps, you must assume that any attempt would have been highly inaccurate and
award a mark accordingly. Not to do so will penalise unfairly those candidates who make an attempt
but commit serious errors in so doing.

Perfection is not required for full marks. For example, occasional missing accents and minor spelling
errors do not preclude a top band mark. However, if there are numerous minor errors and incorrect
use of accents which change the meaning of a word, this is likely to have an impact on the mark for
Application of grammatical knowledge of language and structures.

12
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Appendix 1
Notes on the use of language

The following notes are a guide to the kind of language that may help to fulfil the criteria for higher bands
of marks in the Quality of language and Range of language categories. They should not be seen as a
checkilist.

Variety of vocabulary
Consider particularly:

¢ use of synonyms, eg Wole and preferuje rather than just uwielbiam, on mozemy tam
znalezé/zobaczyc/zwiedzic¢ rather than just tam jest, elegancki, szykowny, genialny, pasjonujacy, etc,
rather than super etc.

¢ different persons of the verb.

¢ use of more sophisticated vocabulary — though the emphasis is on avoiding a lot of conspicuous
repetition.

Variety of structures
Consider, for example:

¢ use of infinitive constructions introduced by prepositions (przed, dla), adjectives (wazne jest/konieczne
jest), nouns (zamierzam) and after verbs (wole iS¢, lubie uczy¢ sie and the modal verbs miec, byc,
maoc)

use of object pronouns

use of disjunctive pronouns (z nim/nig, dla mnie etc)

use of indefinite pronouns/adjectives such as co$, ktos, wszystko, etc

use of connectives such as nie tylko .., ale takze..., z jednej strony ..., po drugie ..., pomimo, Ze ...,
skadingd.

use of adverbs and adverbial phrases such as jednakze, totez, dlatego, na przyktad, zas, z drugiej
strony, na szczescie, niestety.

use of negatives (nie...nic/nikt/nigdy, ani, ni, etc)

use of constructions with poczgwszy and constructions such as pochodze z..

use of comparative expressions (bardziej/mniej/tak samo...jak)

use of demonstrative adjectives and pronouns (ten, ta, to, etc)

use of possessive pronouns (méj, moja, etc)

use of superlative adjective (najlepszy, najwazniejszy, etc)

use of complex sentences and a range of tenses

Use of complex/longer sentences
Consider:

¢ use of subordinate clauses introduced by eg kiedy, gdzie, biorgc pod uwage, ze ..., zwfaszcza, ze ...,
bo, gdyz, poniewaz.

¢ use of relative clauses introduced by kto, kogo, z kogo, etc

¢ use of the present subjunctive after verbs of wishing, command, request, emotion and after aby, Zeby
to express purpose

and, when considering use of longer sentences:

13
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use of co-ordinating conjunctions: ale, lecz,oraz, i, albo wiec, nastepnie.

Use of time frames/tenses

The criteria for Quality of language in Foundation Question 4/Higher Question 1 include ‘references to
two/three time frames’. If a candidate refers to three time frames, it may well be through different
tenses, but equally it could be through the present tense: Regularnie raz w miesigcu chodze do kina
(present); W nastepng sobote ide na basen (future); Wtasnie przyjechatem do centrum handlowego
(past).

The criteria for Accuracy in Higher Question 3-142 refer to ‘tense formations’. In this question, a
candidate can impress by showing that he/she can use a good range of tenses, thereby adding to the
range and complexity of language.

14
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Appendix 2

A glossary of terms used in the Writing assessment criteria

NB This alphabetical list corresponds to all questions on both Foundation and Higher papers.

A problem with immediate communication caused by grammatical

ambiguity inaccuracy or a contradiction (eg ‘I love it because it's boring).
appropriate Language which is suitable for the requirements of the task.

Language which is easy to follow with a logical sequencing of ideas. See
coherent fluent.

complex sentences

Sentences which contain a subordinate clause or clauses.
See Appendix 1 for examples.

complex structures

See Appendix 1 for examples.

confidence

Accurate use of language.

delay in communication

A problem with immediate communication caused by grammatical or
lexical inaccuracy.

fluent

Language which is easy to follow with a logical sequencing of ideas. See
‘coherent’.

grammatical structures

Structures which are listed in the specification.

justified

The reason for holding a stated opinion.

key messages

With reference to the translation questions on both papers, these are the
key messages as identified in the mark scheme.

lapses

A problem with communication caused by grammatical inaccuracy

linking words

Words such as poniewaz, ale, wiec used to create longer sentences.

Ionger sentences

These may be complex, with more difficult subordinations, or more simple
through the use of linking words such as bo, ale

major errors

Errors which impair communication.

minor errors

Errors which do not have a bearing on communication.

A positive/negative verb or adjective used to give an opinion; or a neutral
adjective, such as ‘big’, preceded by something like ‘I think that'. For

opinions - ;

example ‘I think that my bedroom is very small’.
secure Accurate.
structures See ‘grammatical structures’.

style and register

The style of writing. Usually this will be determined by the nature of the
task, requiring informal or formal register.

The use of tenses, with or without time markers, which refer to past,
present or future events. A present tense may be a future or past time

time frames frame, eg W nastepny weekend ide do kina (future time frame); Ucze sie
polskiego przez piec lat (past time frame).
_ Use of different verbs’ nouns and adjectives which avoid a lot of
variety conspicuous repetition.
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Part 2 — Marking guidance for June 2018 series

Question 01

For this question, there are four compulsory bullet points which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 90 words for this task. The number of words is
approximate and you must mark all work produced by the student.

[16 marks]
Content
Level | Marks | Response

5 9-10 | A very good response covering all aspects of the task. Communication is clear
and a lot of information is conveyed. Opinions are expressed.

4 7-8 | A good response covering all aspects of the task. Communication is mostly
clear but perhaps with occasional lapses. Quite a lot of information is
conveyed. Opinions are expressed.

3 5-6 | Areasonable response covering almost all aspects of the task.
Communication is generally clear but there are likely to be lapses. Some
information is conveyed. An opinion is expressed.

2 3-4 | A basic response covering some aspects of the task. Communication is
sometimes clear but there are instances where messages break down. Little
information is conveyed. An opinion is expressed.

1 1-2 | Alimited response covering some aspects of the task. Communication is often
not clear and there may be frequent instances where messages break down.
Very little information is conveyed. There may be no opinions expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will have access to full marks where the
other criteria are met.
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Quality of language

Level

Marks

Response

3

5-6

A variety of appropriate vocabulary is used. Complex structures and sentences
are attempted. There are references to three time frames, which are largely
successful. Errors are mainly minor. Some more serious errors may occur,
particularly in complex structures and sentences, but the intended meaning is
nearly always clear. The style and register are appropriate.

Some variety of appropriate vocabulary is used. There may be some attempt
at complex structures and sentences. There are references to at least two
different time frames, although these may not always be successful. There
may be some major errors, and more frequent minor errors, but overall the
response is more accurate than inaccurate and the intended meaning is usually
clear. The style and register may not always be appropriate.

The range of vocabulary may be narrow, repetitive and/or inappropriate to the
needs of the task. Sentences are mainly short and simple or may not be
properly constructed. There may be frequent major and minor errors. Little or
no awareness of style and register.

The language produced does not meet the standard required for Level 1 at this
tier.

Notes

(@) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language.
Apart from that, the Content mark does not limit the mark for Quality of language.

General rule for this question:

¢ the use of an infinitive in place of a finite verb is acceptable for conveying a message. It would not,
however, count as a reference to a present/past/future event (ie no annotation of Pr/P/F).

Question 01.1 Content

Bullet

Comments

miejsca, ktére najbardziej lubisz w

swojej okolicy

jak spedzites/as ostatni weekend

srodki transportu, z ktérych
korzystasz i ich wptyw na

Srodowisko

gdzie chciatbys/aby$ mieszka¢ w

przysztosci
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Question 01.2 Content

Bullet

Comments

jak spedzites/as swoje
ostatnie urodziny

ulubiony prezent
urodzinowy

czy warto obchodzi¢
wazne okazje

polskie tradycje i Swieta,
ktore bedziesz
obchodzi¢ w przysztosci

The following indicative content is an example of the response that students may give to this question.
It demonstrates a balanced coverage of the compulsory bullet points.

Either | Question
01.1

This is a possible response (indicative content):

Ciesze sie, ze do mnie przyjezdzasz. Mieszkam na fadnym osiedlu,
niedaleko parku. Jest on ogromny, sg tam dwa boiska, cztery korty do tenisa,
park linowy oraz plac z przeszkodami do jazdy na deskorolce. Uwielbiam
spedzac tam czas, chociaz ostatnio nie mam go za duzo, a wszystko
oczywiscie przez egzaminy. W ostatni weekend duzo sie uczytem, bo w tym
tygodniu codziennie mam egzaminy. Obok domu mam przystanek, wiec do
szkoty najczesciej jezdze autobusem albo tramwajem. Sg elektryczne, wigc
nie zanieczyszczajg srodowiska tak, jak niektére samochody. Gdybym w
przysztosci miat wybér, to chciatbym mieszka¢ gdzies na wsi, blisko natury.
(97 words)

[16 marks]

or Question
01.2

This is a possible response (indicative content):

Kto nie lubi sie bawi¢? Dobra impreza to najlepszy sposdb na odpoczynek,
zwltaszcza teraz, kiedy mam tyle stresu! Najbardziej lubie oczywiscie moje
wiasne i mysle, ze moje urodzinowe party w tym roku byto najlepsze, na jakim
bytam! Pomyst z karaoke sprawdzit sie doskonale i do dzi§ wspominamy z
przyjaciétmi niektore piosenki. Poza tym dostatam wymarzone buty. Bytam
taka szczesliwa!
Mysle, ze obchodzenie réznych okazji jest wazne, bo spedzamy czas z
rodzing albo przyjaciétmi. Takie imprezy poprawiajg nam humor, odprezaja,
dodajg energii. Jak bede mie¢ swoja rodzing, na pewno bede swietowac
Boze Narodzenie i malowac¢ pisanki na Wielkanoc.
(97 words)

[16 marks]

However, there may be some imbalance in the coverage of the compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will still have access to full marks where the

other criteria are met.
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Question 02

For this question there are two compulsory bullet points, which are assessed for Content (15 marks),
Range of language (12 marks) and Accuracy (5 marks), as specified in the criteria below. The
maximum mark is 32. The student is expected to produce approximately 150 words over the whole
guestion. The number of words is approximate and you must mark all work produced by the student.

[32 marks]
Content
Level | Marks | Response

5 13-15 | An excellent response which is fully relevant and detailed, conveying a lot of
information. Communication is clear with little or no ambiguity. Opinions are
expressed and justified.

4 10-12 | A very good response which is almost always relevant and which conveys a lot
of information. Communication is mostly clear but there are a few ambiguities.
Opinions are expressed and justified.

3 7-9 | A good response which is generally relevant with quite a lot of information
conveyed. Communication is usually clear but there are some ambiguities.
Opinions are expressed and may be justified.

2 4-6 | Areasonable response with some relevant information conveyed.
Communication is sometimes clear but there may be instances where
messages break down. An opinion is expressed.

1 1-3 | A basic response which conveys a limited amount of relevant information.
Communication may not be clear and there are instances where messages
break down. An opinion may be expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the two compulsory bullet points but, provided at
least some coverage of both bullet points is evident, students will have access to full marks where the
other criteria are met.
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Range of language

Level | Marks | Response

4 10-12 | Very good variety of appropriate vocabulary and structures. More complex
sentences are handled with confidence, producing a fluent piece of coherent
writing. The style and register are appropriate.

3 7-9 | Good variety of appropriate vocabulary and structures. More complex
sentences are regularly attempted and are mostly successful, producing a
mainly fluent piece of coherent writing with occasional lapses. The style and
register are appropriate.

2 4-6 | Some variety of appropriate vocabulary and structures. Longer sentences are
attempted, using appropriate linking words, often successfully. The style and
register may not always be appropriate.

1 1-3 | Little variety of appropriate vocabulary. Structures are likely to be short and
simple. Little or no awareness of style and register.

0 0 The range of language produced does not meet the standard required for Level
1 at this tier.

Notes

A mark of zero for Content automatically results in a mark of zero for Range of language. Apart from
that, the Content mark does not limit the mark for Range of language.

(@)
(b)

Accuracy
Level | Marks | Response

5 5 Accurate, although there may be a few errors especially in attempts at more
complex structures. Verbs and tense formations are secure.

4 4 Generally accurate. Some minor errors. Occasional major errors, usually in
attempts at more complex structures. Verbs and tense formations are nearly
always correct.

3 3 Reasonably accurate. There are likely to be minor errors and there may be
some major errors, not only in complex structures. Verb and tense formations
are usually correct.

2 2 More accurate than inaccurate. The intended meaning is generally clear. Verb
and tense formations are sometimes correct.

1 1 There may be major errors and frequent minor ones, and the intended meaning
IS not always clear. There is only limited success with verb and tense
formations.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

A major error is one which seriously affects communication.

A mark of zero for Content automatically results in a mark of zero for Accuracy. Apart from
that, the Content mark does not limit the mark for Accuracy.
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General rule for this question:

¢ the use of an infinitive in place of a finite verb is not acceptable for conveying a message nor as a
reference to a present/past/future event (ie no annotation of Pr/ P / F).

Question 02.1 Content

Bullet Comments

portale
spotecznosciowe, ktore
znasz i ktére ostatnio
uzywates/as

korzysci i zagrozenia
wynikajgce z uzywania
mediow
spotecznosciowych

Question 02.2 Content

Bullet Comments

niezapomniany i
wyjatkowy dzien w
szkole

twoje plany zawodowe i
jak szkota pomoze Ci je
zrealizowac
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The following indicative content is an example of the response that students may give to this question.

It demonstrates a balanced coverage of the compulsory bullet points.

Either

or

Question
02.1

This is a possible response (indicative content):

Bardzo lubie portale spotecznosciowe, a mowigc szczerze, nie wyobrazam
sobie bez nich zycia. Uzywam wielu z nich, np. Facebooka, jestem na
Instagramie, lubie Snapchat, a ostatnio zaczetam uzywaé Tumbilr (jest
najbardziej anonimowy!). Troche tego duzo, ale w tych czasach wigkszo$¢
moich znajomych je ma, wiec jesli chce sie pozosta¢ w stalym kontakcie, po
prostu trzeba na nich by¢! FB to miejsce, gdzie mozna utrzymywacé kontakt z
ludzmi, ktérych znasz, ale tez takimi, ktorych nie zna sie tak dobrze; mozna
korzystac z czatéw, zapisac¢ sie (i potem tatwo wypisac¢) do grup
tematycznych. Wedtug mnie jednak najlepsze jest to, ze dlatego, ze kazdy
ma FB, mozna bardzo tatwo znalez¢ osoby, ktore np. poznato sie na
wakacjach. W ten sposéb znalaztam jednego z moich najlepszych kolegow.
Lubie tez Instagrama, ale tam sg gtéwnie zdjecia. Duzo moich znajomych
woli ten portal, bo nie ma tam tylu reklam, co na FB, ale ja sadze, ze
ogladanie setek zdjec to po prostu strata czasu. Znam ludzi, ktorzy sg
uzaleznieni, a to jest wtasnie jedna z putapek korzystania z tych stron. Im
wiecej tagéw i lajkow, tym lepiej, mysle, ze to smutne.
(185 words)

[32 marks]

Question
02.2

This is a possible response (indicative content):

Pamietam ten dzien doskonale! To byto dwa lata temu. Dzieh zapowiadat
sie podobnie jak wszystkie inne, lekcje, przerwa, lunch, znowu lekcje. Bytam
w tej szkole dopiero drugi rok i chociaz nauczyciele bardzo mi pomagali,
trudno byto mi znalez¢ bratnig dusze. Tego dnia jednak doszta do naszej
klasy Monika, z ktorg od razu sie zaprzyjaznitydmy. Ostatnie dwie klasy to
moje najlepsze szkolne lata, pomimo ze mamy duzo nauki, wspieramy sie i
pomagamy w kazdej sytuacji. Od nastepnego roku bedziemy miaty zajecia w
innych godzinach, bo wybratysmy inne przedmioty na mature, ale nie martwi
mnie to, bo wiem, ze i tak bedziemy spotykac sie po zajeciach.

Od lat marze o pracy fizjoterapeutki, wiekszos¢ oséb, ktére znam, kilka razy
zmieniaty przedmioty, ktére chcg zdawa¢ na maturze. Decyzja o tym, co
chce sie robi¢, wcale nie jest tatwe. Na szczescie moja szkota ma kurs, ktory
przyda mi sie na studia, wiec nie musiatam nic zmienia¢ w moich planach.
Bede miec tez dwie praktyki zawodowe oraz mentora, a to mam nadzieje,
pomoze mi dotrze¢ do celu.

(170 words)

[32 marks]
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Question 03

The translation is assessed for Conveying key messages (6 marks) and Application of grammatical
knowledge of language and structures (6 marks) as specified in the criteria below. The maximum
mark is 12. When awarding the marks the student’s response across the passage should be
considered as a whole.

[12 marks]

Conveying key messages

Level | Marks | Response
6 6 All key messages are conveyed.
5 5 Nearly all key messages are conveyed.
4 4 Most key messages are conveyed.
3 3 Some key messages are conveyed.
2 2 Few key messages are conveyed.
1 1 Very few key messages are conveyed.
0 0 The content does not meet the standard required for Level 1 at this tier.

Application of grammatical knowledge of language and structures

Level | Marks | Response

6 6 Excellent knowledge of vocabulary and structures; virtually faultless.

5 5 Very good knowledge of vocabulary and structures; highly accurate.

4 4 Good knowledge of vocabulary and structures; generally accurate.

3 3 Reasonable knowledge of vocabulary and structures; more accurate than
inaccurate.

2 2 Limited knowledge of vocabulary and structures; generally inaccurate.
Very limited knowledge of vocabulary and structures; highly inaccurate.

0 0 The language produced does not meet the standard required for Level 1 at this
tier.

Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages
mark does not limit the mark for Application of grammatical knowledge of language and structures.
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Key messages

The translation is divided into 13 key messages (see below). As a general rule, the wrong person or
wrong tense of a verb will not receive a tick. Minor inaccuracies, such as incorrect gender or adjectival
agreement, will not on their own prevent the award of a tick.

Message

Accept

Reject

1 | My friends and |
volunteer

Razem z moimi przyjaciétmi/Ja i moi
przyjaciele pomagamy/pracujemy
wolontaryjnie/na ochotnika/za darmo

Moiji przyjaciele wolontaruje
Jai koledzy
pomagasz/pomagalismy

2 at a local animal
shelter.

w
lokalnym/pobliskim/niedalekim/niedaleko
potozonym schronisku dla zwierzat.

3 | We would like to go
there more often,

Chcieliby$my/chcemy/bysmy chcieli
chodzi¢ tam czeSciej

Chcielismy chodzi¢ czesto,
wiecej, iS¢ tam

4 but we have exams this
year

ale w tym roku mamy egzaminy

ale za rok mamy egzaminy

5 | and have to spend a lot

i musimy/powinnismy spedzaé duzo

musimy spedzacé

6 | of time on studying.

Czasu na nauce.

7 | Last Saturday we went
to disco.

W ostatnig/ubiegtg sobote/zesztej
soboty poszlismy na dyskoteke/do
dyskoteki.

impreza

8 The music was too
loud,

Muzyka byta za gtosna

Muzyka gra gtosno

9 | atleast in my opinion.

przynajmniej moim zdaniem/w mojej
opinii/ja tak mysle/wedtug mnie.

10 | Next weekend

W nastepny weekend

W weekend/w kolejnym
weekendzie

11 | we are planning

planujemy/mamy plan

12 | to go shopping

is¢/jechac/péjs¢ na zakupy/na
sklepy/pochodzi¢ po sklepach,

13 | and to see a movie

afterwards.

a potem do kina/obejrzec jakis film/na
jakis film/poogladac/ogladngé jakis film.

i zobaczyc¢ film.

Other reasonable alternative translations will also be accepted.

A tick will be awarded for each key message that is communicated, despite any minor inaccuracies. The
total number of ticks awarded equates to a mark according to this table.

Total ticks Mark

13

11/12

8/9/10

5/6/7

3/4

1/2

OFRrINW|~OO

0
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